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What to study and review:

1. Watch a video on youtube
Link:

https://www.youtube.com/watch?v=Ge7c70tG2mk

https://docs.google.com/forms/d/e/1FAIpQLScSWPg8nUy 2 Mot e f e ||

3. Memorlze verb table (1 100)

Bt ow ok k H ¥ n U W w x
meanng, Tt mmna punm.

T awake | B avoks avokin awaking 21 st | BB ot cost costing

2 bear Z2:TH bore borne be: 22 cut ;6§ ent et cutting

2 het TR bat bat bt 23 creep BT

4 beat #EEL | bet beaten be 26 odap | g ms] clappes

‘bacome al (i) B A
begun, is | e
bent 27 do it

& bie  ® bt bitten Erpe——

84HsSbhtjJe0Tkmrg2Voly3wgGIBV FN5rLkeDA/viewform

0 blew W blaw tlown

Learning a language? Speak it like you're
playing a video game | Marianna Pascal |
TEDxPenangRoad

Fill in the blanks with the correct answers. Please watch until 8:30
Link:  htips://www.youtube.com/watch?v=Ge7c70tG2Zmk
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Learning a language? Speak it like you're playing a video game | Marianna Pascal |
TEDxPenangRoad Please watch until 8:30

*2. Bk SLEEARIED)| SIS T FEf#E Listening test 12

11 break  $THE broke. broken 21 drive

brought ring 32 eat
13 build 3 buile builéing 23 fall
14 burn barsed/ bl iy 3% feed
18 burst st bursting )
1 buy  H bought baught uying 2 fight
17broagcast G | broadeast | broadeast | broadeasting 37 find

15 cateh == mm | casht caught catching

15 choose BB | chom | chosn

= Ay
39 forbid EL:iTE

20 come came come 0 forger | EEE

pastiense || _pastpartciple pestiense | pastparticple

a1 Torgive forgave | | forgiven forgiving 6 leave left left leaving
42 freeze froze frozen freezing 62 lend ent ent ending
43 get o ot getiing 6 lie tied tied lying
4 give qave given giving 6 lie lay ain lying
g % went gone going 65 light it/ lighted | 1t/ ighted lighting
a6 grow | EE grew grown growing 6 lose lost lost losing
47 bang (hiog) 31 hung hung hanging 6 et Et Et letting
4 hang 45 hanged hanged hanging 68 make made made making
49 have  fif had had having 69 mean foriymi|  meant meant meaning
50 hear heard heard hearing 0 meet 5 met met meeting
51 hide hid hidden hiding oy paid paid paying
52 hit hit hit hitting 2 put 1 put put putting
53 hold % held held holding 73 read R read read reading
54 hrt hurt hurt hurting 7 ride B rode ridden riding
55 keep  [ify kept kept keeping 75 rse bbb | rose risen rising
56 kneel f knelt knelt kneeling 76 ring F3 rang rung tinging
57 know i knew known knowing 77 51 ran run running
58 ly laid leid laying 78 say EY said said saying
59 lead G led ed leading 79 saw i sawedsaved | saunisancd sawing
60 learn %3 | oy kaed | leamteamed | __leaming 8 __see £ saw seen seeing

51 sell x sold sold salling

82 send EIF sent st sending

23 gew i sewed s sEwing

24wt d o £ 2t satting

85 shake = E shock shaken shaking

88 shine i shone shons shining

87 shoot # shot shot shooting

88 show =uw w3 | szhowsd shown showing

828 shat B shut shut shitting

W0 sing = — sung Sinziflz

21 sink T sank unk tigkine

¥ it & =3t 1 itting

32 slesp = lept lept

34 smell | sz famelisd smelt] smelisd/ smalt

E sow T — sown sowing

% speak RE spoke spoken spesking

87 spell = speit/ spaiied | spalt / spallad zpalling

32 spend  TEle BN spant spent spanding

%% spill w spitt’ spilled | spilt’ spilled spilling

100 stand =i stood stood standing

4. B OKIEEE Spark BAlEHSRBHRE S
Test 25 (A,C,D,E)

5. Writing Practice
Write a passage of at least 80 words
about your favourite restaurant.



https://docs.google.com/forms/d/e/1FAIpQLScSWPg8nUy84HsSbhtjJe0Tkmrq2VoJy3wqGIBV_FN5rLkeDA/viewform
https://docs.google.com/forms/d/e/1FAIpQLScSWPg8nUy84HsSbhtjJe0Tkmrq2VoJy3wqGIBV_FN5rLkeDA/viewform
https://www.youtube.com/watch?v=Ge7c7otG2mk

Learning a language? Speak it like you're playing a video game | Marianna Pascal |

TEDxPenangRoad Please watch until 8:30

Q Learning a language? S... &

>

What is the name of the speaker? * 0%

ZpErE

What is her occupation BiZE? 0%

(O Businessman EA
(O Scientist Rl
(O Programmer BES

(O Teacher £

According to ({RiF) the speaker, what is the most important thing of 0%
speaking well? *

(O English level
O Attitude B
o Accent OF

O Mind =&

What is the similarity between speaking English and learning piano? 3883 205
EREENSEEEAERCE? -

People want to learn it

Afraid of criticism #5F

It takes time to practice &

It is costly B8

Afraid of making mistakes #:2

o0o0o0o0oa

Feel bad about themselves

What is special about people who can communicatei&iB well even their 05
English is not good? *

[C] They are NOT confident E15
D They focusEGE on the conversationZEg
D They don't care of making mistakes&&z2

D They don't care of whom they are talking to FFESFIMBETEEAIA

What is a common problem when people speak with native English speaker 10%

RE AEEEEEENAREREL T BERSE?

They feel bad about their English

They are happy to speak with native speakers SEEZ A
They don't care about native speakers

They are not afraid of speaking English

0O OO0OO0

According to the speaker's story about buying medicine BEE, what is special 104
about the girl with not good English? *

O She is afraid of speaking English
(O she has poor grammarzi%
o She cannot help the speaker to choosei® her medicineZE

O She uses simpleBSE English to help the speaker



According to the speaker's story about buying medicine BEE, what is special 104
about the girl with not good English? *

(O sheis afraid of speaking English
o She has poor grammariZi%
O She cannot help the speaker to choosei® her medicineZE

O She uses simpleBS= English to help the speaker

To sum up, which of the following sentences fit the aim BiZof the video 05
most? *

O Speaking English is very difficult E2&
O Don't think of criticism #t3F when you speak English
O Speak fast when you meet native English speakers iEEZEATA

o If your English is bad, you don't speak with peaple
[=]

4. Writing Practice

(FEAREREBRA B L - MARHEM)  Monday, 30" March, 2020.

Write a passage of at least 80 words about your favourite restaurant.
Write the number of words that you have used.
Useful expressions:

® [t R B 5
Last ( week / Sunday / month / year ), | go to a ( coffee shop / Chinese restaurant /
Portuguese restaurant ) with my ( friend / classmate / parents ).

When | see the ( European-style / Japanese-style / Thai-style / Chinese-style ) ...... and ...... , | fall in love with

Everything in the ...... be ( beautiful / colourful / funny / sweet / charming).
When we go in, the waiters greet us with a smile.

| order ...... and my ...... order ...... as starters (Hij=i2).

The food look ( good / attractive / cute / delicious ).

| take many photos to share them online!

We have ...... with ...... as our main course.

The ...... taste very ( sweet / sour / spicy / salty / bland ) but | like it.

| recommend this ...... to you.

You ( shouldn't / mustn't) ...... !




) words
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